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Question Number : 1 Question Id : 492863961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1
(a) Order
(b) Species
(¢) Family
(d) Class

ol i :SEBTLUod

erfer -1
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(b) e
(c) &stwomo
(d) <goihe

The correct answer 1s
o8 &oNS Tt
Options:
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List-1II
Nigrum
Polemoniales
Solanum
Solanaceae
Dicotyledonae
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Question Number : 2 Question Id : 492863962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : Euglenoids have a flexible body.

Reason (R):  They have a protein rich layer called pellicle. which makes their body
flexible.

APS0 (A): chofcronden Sdgdie 680 §OA wolran.
820 (R): TES® God DES wdlor fo IS olad P So T8 008
Sdogd Tr&B0d.

Which of the following is true?
& 1808 TS A0 D&gH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
i (A) 08030 (R)Boder Sdgbn S00sn (A)8 (R) 20808 D860
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) S8 (R)Bodr Hégs0, 52 (A)8 (R) %0308 258w 52
2.
(A) 1s true. but (R) 1s false
(A) g5, 57 (R) eRdE g0
3 %
(A) 1s false. but (R) 1s true
(A) 38580, 520 (R) degabm
b

4.

Question Number : 3 Question Id : 492863963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists and match the discoveries and/or inventions made by the scientists
during 20™ century

List-1 List-1II
(a) Oxygen evolution from H,O m (1) Benson
photosynthesis

(b) C;pathway of Carbon assimilation (i) V.S.RamaDas

(c) Contribution to C,-photosynthesis  (ii1) Robert Hill

(d) Artificial synthesis of genes (tv) Hara Govind Khorana
(v) Frankel Conrat

205 $0o8° THaweo EHMY) 508050/8E Srsfeys B0d & Eob T8I wPgaNSo
D RSEHTEs

erde -1 e - 11
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The correct answer 1s
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Question Number : 4 Question |d : 492863964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pteriodophytes, especially ferns possess the following characteristics
1)  Circinate vernation
11) Ramenta
i11) Eustele
1v) Paraphyses

B0G P8 en, dwpgor oo & fob ofrods §Oh wolrow

1) $S9E8d00h dTgddn

i) o°Joodr

C

iii) oSorhS

V) SF-dosoHen

The correct combination 1s
2B B0 oY)
Options:

1 & v

o 1&1

L&y
= ®

.1 & 1w
4 %



Question Number : 5 Question Id : 492863965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Read the following combinations and arrange the below chronologically in the light of
evolution

1)  Vascular Cryptogams - Ramenta

i1) Embryophytic non-archegoniate phanerogams - presence of companion cells in
phloem

i11) Plant amphibians - elaters
iv) Tracheophytic archegoniate phanerogams - no vessels in xylem

& 80D FD0HHD BEH0s HoerloEd wrrdor §od T8 ol ardom el dod
1) TISTHNY o EPmay) - ordodr
i1) ods% LE; DerFaio B o f@b&oﬁﬁwé&m - PaE omreod” JFEorasotIan
ili) egchIsang e - adLd
iv) &5 HgSHos0d, @ Derdohdnde Payed I e - TOT DI TERJ
The correct sequence 1s
QB HDBAD SSBED00

Options:

- i, 1, 1v. i1

11, 1. 11. IV

3 % 1m.1v. 1. 11

1,111, 11, Iv
4 ®

Question Number : 6 Question Id : 492863966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The mnflorescence found in Jasmine is a

e ey i [ —
NS wQ) YDITERO
Options:

Polychasial cyme

Cymule

FATRE wSo
- 5 %)
Dichasial cyme
AAE e SINE AT S

Monochasial cyme
JETPHoss IPdo

Question Number : 7 Question Id : 492863967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In watermelon the spirally coiled stem modifications which help in climbing are developed
from

f@ﬁﬂ?d‘aeﬁ”— ST 8 GHDFRINE dEen SBAN E“;’Jc:%# & Jook éﬁg}%a‘)’o& Srarodado
Dot oh

Options:

Apical bud
| §'8%0
1. %
Adventitious bud

wandy) 50
2=



Axtillary bud
s 8880

Terminal bud

ens §dso

Question Number : 8 Question Id : 492863968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1

(a) Flowers appear to have arisen from the same
point of peduncle

(b) The sessile flowers are arranged on
peduncle in acropetal manner

(c) The sessile unisexual and neuter flowers
arranged in acropetal succession protected
by a modified bract

(d) Umnisexual and/or bisexual sessile flowers
develop centripetally on a condensed peduncle

EoB T8 adHES0s
erder -1

(@) I>yoQ IR ITgdIodo aBFIo Jod
& & DoDSy EDBFTON

(b) Spsssrd Himeoo QIS Syodo DS
wITdTrdEanoes” @0l wodrow

(C) Srroddo BobS YA Do& Shodmdods
SoSsird, JEO0KE, Sogy YaTyen
THFrdEoos @b Golrown

() Sps6E 600K 5:805/8E 00K HaAyLs
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Bdsod” H)6 Toderow

The correct answer is

HE oS 2ara

Options:
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(1)
(11)
(iif)

(iv)
()

(1)

(i1)

(iii)

(1v)

List-1I

Corymb
Umbel

Spike

Capitulum

Spadix
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Question Number : 9 Question Id : 492863969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Bamboo species is a perennial plant and exhibit unusual flowering
phenomenon.

Reason (R):  Bamboo plant flowers only once. i.e. at the end of the life after 50-100
years.

NS0 (A): s o8 0o 08 308, S000k0 OFFTVRS YD BYIRSSTY)
BrHB08.

o (R): 30> 50-100. dosenore SHhaTd SEHEIS" wBug T8 Yydod.

Which of the following is true?
& 1808 TS B $BgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

o (A) 5805 (R)Bod> d8g50 20650 (A)§ (R)$6gHs 256

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 5000w (R)Bodr dégin, 570 (A) 8 (R) 0088 D58 scko
i %
(A) 1s true. but (R) 1s false
(A) Jggd00, 570 (R) edegsbn
3%
(A) 1s false. but (R) 1s true

- (A) 88550, 570 (R) Segb0



Question Number : 10 Question Id : 492863970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Cellular thickenings at the micropylar tip guide the pollen tubes into the
synergids.
Reason (R):  Synergids have antipodals located at the chalazal end.

QPSI (A): wodmdy) F8 I8 &) fadomw doriarvody 35050 E0ros’8
BELr08 TO SrDFow.

s*8mo (R): O5F0% Seoren WD Serwdd EO0A &od Jdurer BI3Y wolrow.

Which of the following is true?
& 1808 TAS® B JdBgBn?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 500050 (R)Bodr Héghn oakn (A)8 (R) 50508 258
1 B
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
< (A) S0 (R)Todsr 28gh0, 520 (A)§ (R) 26308 dddee 57
2
(A) 1s true, but (R) 1s false
(A) B850, 570 (R) edegibon
5w
(A) 1s false. but (R) 1s true

(A) @-mﬁgm. o (R) ﬁégaﬁw
4 %

Question Number : 11 Question Id : 492863971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Dichogamy and herkogamy are the important devices or modifications to prevent one of
the following:

D35 OF HEE So0osw AL o7 Sopghd Sroven 88 rFroduTen, w¥ |§ob
TAS' € T BHPIT
Options:

Asexual reproduction

VB0hE PSgEE

Cross pollination

HEHTA LodY), 0

Autogany

ST pelopts i sTopele No

3 4 "
Vegetative propagation

TSR AL

Question Number : 12 Question Id : 492863972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists. Match the floral parts given in List - I with the corresponding
symbols. 1n List - II

List-1 List-1I
(a) Calyx H @
(b) Ovary superior (1) %
(c) Actinomorphic (m) C
(d) Zygomorphic (iv) K
V) G

& Bod s wfgohdo Bobesd. wrde -1 &° &) JQwrmed, e - &
&) S0 JosTred® ad srdod

e - 1 erdear -11
(@) o8& Higo i @
(b) s @odE¥o (1) %
(c) BhScsdo (1) C
(d) 88 FRScsndo (v) K
W G

The correct answer 1s

D0 wowyd 2o

Options:

@ @® © @
(i) Gv) (@) @

1 ®
@ @® © @
L G W G

@ @® (@© @
o™ W @O® @

@ @® @© @
W (@ @ (>G)

4 %



Question Number : 13 Question Id : 492863973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Example for a monodelphous androecium is

DEnoE BHOHVE T8
Options:
Pisum

- af &
alon il
[ -

Solanum

Jrery :3: ..b::'

Dracaena
A
(TR0
3 ® -

Crotalaria

(57 "Sslevby
4 o

Question Number : 14 Question Id : 492863974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : The “Fluid Mosaic model™ proposed by Singer and Nicolson indicated
that the quasi-fluid nature of lipid enables lateral movement of proteins
within the overall bilayer.

Reason (R):  Inthe cell wall of a young plant cell. the primary wall is capable of growth,
which gradually diminishes as the cell matures and the secondary wall is
formed on the inner side of the cell.

AYPSD0 (A):  FEE (BER8S” GoB OGO ©Emo 0o BEISEIIS, PES v
>3 écﬁ@éméo Qoo EOAK0ER 2oKs, VESHI H8FBoNS Lrowd
oezranf SHorTd” drdodwdod.

s8mo (R): DEINE), Ee0 Eea8STo, (PEWE W0 DML JHgS OASNOE,
ESoom w0 SHBIVYEY ©b $h BBoDH ESFo Fwo SO IYH
Qﬁdg&éoé&:;o&.

Which of the following 1s true?
& 1808 TUS* A8 DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
. (A) $080520 (R)Bodor Sdgiban 00080 (A)8 (R) 20808 Dbden
1.
Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) 500050 (R)Bodr 8550, 559 (A) & (R) 0808 56 &
> o

(A)1s true, but (R) 1s false

< (A) Dggbn, 570 (R) eddgsbn
(A) 1s false. but (R) is true

& (A) 38380, 0 (R) Sgdw

4.

Question Number : 15 Question Id : 492863975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Among the following. identify the Zwitterionic form

¥}

& Bod 78S 2l ol Sraray Sodod

Options:
R
+ |
H.N-CH-COOH
1 ®
R
+
H,N-CH-COO™
Z ¥
R
| .
H.N-CH-CO
%
R
|
HN-CH-COO
4 ® )

Question Number : 16 Question Id : 492863976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the changes which occur in the chromosomes during meiosis. with the different

phases of prophase-I

List-1
(a) Pachytene
(b) Zygotene

(¢) Diplotene
(d) Leptotene

(1)
(i1)
(iii)
(iv)
(V)

List-1I

Compaction of chromosomes
Terminalisation of chiasmata

Pairing of chromosomes

Dissolution of synaptonemal complex
Recombination nodule

godo88e JgadS’ FFRrdros’ 2ff Srdjod @BEsdd - [ & &l I Sfod

=t fsletnisTe
srder -1
(a) 883
(b) BARES
() &8
(d) BFSS

The correct answer 1s
50 Lo 2o

Options:

@ @® (o
e ® @ G

(@ @® (o)
(i) (1) (1)

2%
(@ @® (o)
- a) (@ (1)

(d)
(1)

(d)
(iv)

(d)
v)

(1)

(i1)
(iii)
(iv)

erder - 11

F'ardrae S0bod
Solraro E-oe‘:aa’)o%@éém
FardFoer adirdod
DTFAHS Pofao §8oMae
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Question Number : 17 Question Id : 492863977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following are the characteristic features of phloem?
1)  Gymmosperms have albuminous cells and sieve cells
11) Presence of tracheids

111) They store food materials in the form of starch or fat.
tv) They have sieve tube elements that are long, tube-like structures
v)  Their end walls are perforated in a sieve like manner

& B0 TES® A FIE Swrosn B oFros?

1) DB Deren sondeoind sren Ho8ain Tod Sren £OA Gotrrow

1) oo 08 Godiio

1) 2D s ITTod Dod BE FHOIT Jog ot ow

V) 20 Toddd Sresten $08 Golron. R) FEY™, TLH0 o oy

V) T8 o8l Bodgiides Go@odnddy 28858 otrmon

The correct combination is
QO HOGH DoY)
Options:

1. 11 1vand 1

1 ®
1. 11 and i
o ®
Livandv
v b

V. 11. 1v and 1i1



Question Number : 18 Question Id : 492863978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Study the diagram and the list given below

& 1508 B, HPED wEgoiso Wohok

i)  Chloroplast

ii) Epidermal cell
111) Guard cell

iv)  Subsidiary cell
V)  Stomatal pore

1) 508809
1) erdrgiidy e
i) $%& SeoBo
IV) @008 i

V) HE8oigsm

The correct match 1s
A HOFToS F¥VoD)

Options:

@ ® (© @
L) G ) i)



@ @O (© @
Sy (i) (@@ @Gv) (i)
@ ® (© (@
V) @) (@O ()

o %

@ m (© (@@
o v) (@) @) ()

Sngie ine Question Option No Cption Orentation: vertigl o r o o e Display Question Rumber : Yes
Correct: 1 Wrong: 0

Hydfrilla and Limnophila are examples for the following categories respectively

i)  Free floating hydrophyte and rooted hydrophyte with floating leaves

i1))  Submerged. suspended hydrophyte

ii1) Anamphibious plant

iv) Submerged. suspended hydrophyte and a free floating hydrophyte

v)  Submerged. rooted hydrophyte and an amphibious plant

BT ddin OdMper, & Bod 788 NI Tl

1) Q&R B5HT BT QB 308, 50805 ofEdn Fod AGH BT dEgres fo I8 30§,
1) From 8S° Swdh, vdeodgor ¢od I8 I8,

1) oisd I,

V) Q&S 50dh, edvoddor ol I8 I8, Dol IED 38 A8 I,

V) Q0&8eF H00A, ﬂf}}éfﬁz‘a DoHS VS S0g), Hodosn trgfoialid ook,

The correct combination is
Q8 $0G0S Fo¥do)
Options:

1&11

1%

1n&iv
o R



1&V

i1 & 1ii
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Question Number : 20 Question Id : 492863980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indicate the correct statement from the following

& 1508 TS 08 argmgde Mgodod
Options:

Ephemerals-Tidax: succulents-Asparagus: non succulents-Casurina-in Xerophytes
w508 JnF o - ([@FE) : SxFlTws - @) IViv 1 S540d0 T I oo -
FrBT - ATO I o’

2. ¢
Roots absent/poorly developed if present generally fibrous and stem is long. slender
and flexible - in hydrophytes
3% BY / 3% &HS SKYS 5B BodID, ¥ FFdwomr LSBT wotrow

508050 SHW, FEIS DoFdnm SoR sTosdn fo - IS Jwg) T

o %

Mesophytes grow in such a balanced condition of water and gases but lot of adaptations
are necessary to face the favourable conditions

L&, Mo dMdwgolw wa?aeﬁ:e_:ej"‘ mcﬁ-ﬂo:: S oo DHETon A, BErY

8%&‘3@8’3& Q5007 HErA8 o wdiroTror NS ow



g W

Cuticle 1s totally absent in submerged aquatic plants. while the epidermis is composed
of thick walled cells

NOST oA ol IGO0’ IR FET Godd, LoNd wrirgEdo HodId

T &) Borod” dird wotood

Question Number : 21 Question Id : 492863981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : Sodium chloride 1s dissolved in water and this solution will have a lower
water potential than pure water.

Reason (R):  The ‘¥, is always positive in comparison with pure water.

AYHSE0 (A): F&oho 588 ABS® By JHAS Trho B, A o Dzwo 8
559,5 ok
80 (R): B wwod Foyr W ISyd S8 83

Which of the following is true?
& 808 TIS" 28 DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
- (A) S080s (R)Toder S 0osn (A)8 (R) S08308 Ddde

Both (A) and (R) are true. but (R) s not the correct explanation of (A)
(A) $o8a5n (R)Bodr H8g50, 52 (A) & (R) 30808 9580 5260
2%
(A) 1s true. but (R) 1s false
(A) S50, 570 (R) eddgahan
3. ¢
(A) 1s false. but (R) 1s true

(A) oddgd0, 2 (R) degaban
4 %



Question Number : 22 Question Id : 492863982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1

(a) Chlorine

(b) Sulphur

(¢) Potassium

(d) Nickel

808 T wSHSBos
erdlee -1

(a) &6

(b) Soy6

() rérdodho

(d) 38S

The correct answer 1s

S50 o 2amew

Options:

@ @® (o)
v @) (i)

i

(d)

(1)
(ii)
(iii)
(iv)

(V)

(1)

(11)
(iii)

(v)

)

List-T1

Helps to maintain an anion - cation balance
and 1s involved i protein synthesis

Helps in determining the solute concentration.

It 1s the main constituent of several
coenzymes and vitamins

Found to induce disease resistance in some
plants.

Structural component of Cytochrome ‘C’
oxidase

rde -11

@8] Jode’ FTolr wdoirIe,
shoiraen dSdogorm totibats &yt
ETReo Fodd ATEwE §'E)E0

DG EAPH0H H0005n DOWTOS® Ko
RS i

FQ) 30§ o’ TEETEESH (@0D0 s
&'dyodo

PEE S0 D 8B o d)E edododiso
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i) (v @) @)
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Question Number : 23 Question Id : 492863983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The formation of the Enzyme - Substrate complex is essential for

DoBD-0EHHTY B8P0 Dbt ©IHET8H

Options:

catalysis

elicition

RO VAN

anabolism

QT T8 (5oda

Question Number : 24 Question Id : 492863984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Arrange the path of electrons from water to the phycocyanin in the light reaction.
i)  Plastoquinone

11) Excited P680*

1) Cytf

iv) Fe-S

v)  Pheophytin

vi) Quinone

65@”_ At ook W&

ped

Ao JoFge damea 28h Srfod Blom Beyob

The correct sequence is

[t il

28 J05%N WD Baoo

Options:
1. V. Vi, 1. iL. IV
%

11, v, vi, 1, 1v, 111
e

V.11 1. 111. VL. V
z ®

Vi, 1V, V. 1il, ii. 1

Question Number : 25 Question Id : 492863985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find out where transketolase and epimerase reactions occur among the following :

i) G-3-P+ DHAP .—:r Fructose — 1— 6 — bisphosphate

i1)  Sedoheptulose—7—Phosphate + G—3— P. — Xylulose—5—P+Ribose —5—Phosphate
111) Ribose — 5 — Phosphate .4} Ribulose — 5 — Phosphate

iv) Xylulose — 5 — Phosphate .—:» Ribulose — 5 — Phosphate

v)  Fructose—6—Phosphate + G—3—P—— Xylulose — 5—Phosphate +Erythrose—4—Phosphate

& 18od HGgee® Era)Bis'SR H0ain J0HBE Segen I8, 28S HHoolod

) G-3-P+ DHAP — $§5 — 16— B35S

i) HETHBE —T- S +G—3-P — Beos™ —5—P+ 35 —5— IS
i) D5 — 5 SIS — 0SS —5— FINS

V) Bene'S —5— 3IE —— Bewes™® — 5 — FIS

V959 —6-38 +G-3-P — Feoe™ —5-Hy5 + 20 —4- S

The correct combination is
28 $8G0S Do

Options:

1%

nim&v
o R

_— 1. V&1V

v.i&i
4 ®

Question Number : 26 Question Id : 492863986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In the TCA cycle. conversion of Succinyl - CoA to succinic acid is catalysed by

TCA g™ S5FE - CoA S30& DEIVE wio IYHos FERE
Options:
dehydrogenase

& EFeIE

thiokinase
EBreas
z ¥ =

decarboxylase

a&sn§oE
z ® -

synthetase
DOGBE

4 ®

Question Number : 27 Question Id : 492863987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the oxidative decarboxylation reaction of citric acid cycle. following products are
observed when o-ketoglutaric acid 1s oxidized.

VS Bl HEos”® LRSI 355‘-6;5&@&5 S8g508y 0-8ET 0T a0 es8 )80 BOASHYE
D DTTen S
]
Options:

Fumaric acid + FADH, + CO,
Dge0b8 o +FADH, + CO,

1 %



Oxalosuccinic acid + NADH + CO,

e55 0808 edo + NADH + CO,

Succinyl CoA+NADH + CO,
$83S CoA + NADH +CO;,

3 v
Malic acid + CO,
5708 edoo +CO,
4 ® =

Question Number : 28 Question Id : 492863988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which hormone is sprayed to increase the length of stem in sugarcane crop?

DB HobrS® srodo FBY PHHGOE @ T o deperdd

Options:
Ethylene
SBOS

1 %

Cytokinin
ETBIS
> ® :

Gibberellin
?E E*ﬁ Q-&S
3. &? =¥, o

ABA

Question Number : 29 Question Id : 492863989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Plasmids have the following characters.

i)  They contain fewer genes than the bacterial chromosome.
ii))  They have single stranded DNA

ii1) They can be used as vectors

iv) They contain linear form of DNA

v)  Plasmids confer protection to drugs

TR0 & B0d ofros wolron

) aﬂé&oﬂ:eﬁ E3rFdoow EF) S8 adogPhes Golrow
i) =2 D% DNA£OA &ododo

i111) QD TITEeRm GRBTISEK

V) 22 G838 &d DNA 804 ok

V) adbor Tagre dodgnd” &yl

The correct combination 1s
28 $BGE Ho¥DoD
Options:
| 11, V. 1V, 1. 111

1.1V
il b

1. 1v. 1
o R

11, V. 11, 1V
4 ®

Question Number : 30 Question Id : 492863990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What is the order of events that occur in a bacteriophage lytic cycle?

TE0cSrPES'Y BUE HEos® o dfe ESo 287
Options:
penetration = attachment = biosynthesis = maturation = release
$390 > Lol ppTHoL > E55cTI0 > HOSEKS > I
attachment — penetration = biosynthesis = maturation = release

ol DLRTDL > P3¥0 > £dd03de > HOIKE > e
2.

release = penetration —> attachment = biosynthesis = maturation

Do 2 (HIFo D woi DS b > £55030 > HODBES

attachment — biosynthesis = maturation = penetration —> release

@otiDtPTdhd > 250030 > JBIEE > PIdo > I

Question Number : 31 Question Id : 492863991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the possible genotypic ratio in F, generation if a plant producing red flowers (RR)
1s crossed with another plant of the same species that produces white flowers (11)?

A6 Yirmyew (RR) do 3ng), o8 =88 Dodd 3658 Swodrneo (1) fo 0§ &
DoEdE0 2008 T°Q Sodd Sdos” bdﬁj& 230580 A8 Q o wokredo?

Options:
Red : Pink ; White
D835 : Hoered) : Se0)
l : 3 ; 1



| 2 1
> o

Red : White

Nlethe) : ae0)

3 : 1
= ®

RR Rr T

2 6 4
4 ®

Question Number : 32 Question Id : 492863992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : A single gene may be occassionally related to more than one character.

Reason (R) : The above phenomenon cannot be called as pleiotropy since a single gene
cannot be related to more than one trait.

QPEI0 (A): a8 2dogy) wIpddvds o8 T EJ) 8D oforod” domodo £OA
totnol.

8o (R): 28 BOYX VBB 2l (HerdEo 5. Jododod oM wf & 2305
208 ofoorod Souodo DA Godd.

Which of the following is true?
& 1808 TUS° IO DSgH0?

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
| (A) 0800 (R)Boder dégsn Ho0ck0 (A)§ (R) 60G0% 55w
I
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 58050 (R)Bodr Hégsn, 50 (A) & (R) $0508 258 570

o R



(A) 1s true. but (R) 1s false

e (A) 285500, 50 (R) evdegidon
(A) 1s false. but (R) 1s true

: (A) o3850, 50 (R) d&gsb0

4.

Question Number : 33 Question Id : 492863993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Mice infected with the S strain (virulent) die from pneumonia infection
but mice infected with R strain do not develop pneumonia.

Reason (R):  Thisis because the S strain bacteria have a mucous (polysaccharide) coat,
while R strain does not.

NS0 (A): Jensod® ogd 588 S (2o (o788 SBEM) Sod SgIrJdaie
=
TR IYsron. T R@S Sod Sgardcir Sor.
8o (R): &8 5780 S RN wr§bohoee’ HrgEd Y (FOTpdiw) Gotnod.

50 R@Seﬁ‘s 0.

Which of the following 1s true?
& 1808 TIS* 2B JSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 08030 (R)Todr P& B (A)8 (R) ~00308 Wl

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
- (A) S08050 (R)Bodsr D8gb0, 520 (A) § (R) 56508 D80 57
2,

(A) 1s true. but (R) 1s false
(A) 250, 570 (R) eddgsdn

3 ®



(A) 1s false, but (R) is true
(A) 38550, 0 (R) S50

Question Number : 34 Question Id : 492863994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A change of single base pair in the gene for beta globin chain (in human haemoglobin) that
results in the change of amino acid residue glutamine to valine which is due to

SrSHQ TICTASS® o Hir FAS Hopwod® Ko adgde’ ol 58 a8 SrinBok
S0l AR oS who ML TOm Jordyy Bododsdo
Options:

Frame shift mutation

i L7

O OIGT W

en

55 &

£

Point mutation

Dot e BIET w0
o o

Insertion mutation

AR BB IET e

Silent mutation

w80l &8I

Question Number : 35 Question Id : 492863995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Two of the following statements are correctly defined. Identify the correct combination
i)  Conversion of hnRNA to mRNA - processing

11) Removal of introns and joining of exons - splicing

111) Addition of adenylate residues to 3 -end in a template dependent manner - Tailing
iv) Methyl adenosine triphosphate is added to 5-end of hnRNA - capping

& §0h Trgpged” ot ST AdDoTaEID. JBI add Mwiolod
1) InRNA & mRNA Seeob -@rweoh
1) 2w Hod & ITHeod Soads -‘%32}05
iii) @8I0 eidrer 3-FIS° §OD Bowdl ddo@orr ok - R
iv) hnRNA % 5'258¢° 23S o0& 2 @ﬁ""&:ﬂ:’éf Eeodooh - s*woh
Options:
1 & 11

1&1
=

ol 1&1v

i m & v

Question Number : 36 Question Id : 492863996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Restriction endonuclease recognises palindromic nucleotide sequences. because they have
characteristic

BRES oG ErED, FOSENE SrEBrBE ESrd) HGoHR. T8 DES'D oferen

580

Options:
Dyad symmetry
P &8 FDg



Staggered cut
THG DS

Direction of expression

& Hg88boL0

Recombinant DNA sequences

Jsood@rad DNA 50

Question Number : 37 Question Id : 492863997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : The fragments of DNA generated by the action of restriction endonucleases
are separated by polyacrylamide gel electrophoresis.

Reason (R) :  The separated DNA fragments are visualized as bright orange coloured
bands after staining with Ethidium Bromide followed by exposure to
UV-radiation.

350 (A): ORES Jo&'SrEchS B85S0 D585 DNA Fieo 30JE0RE BS
Jﬂ@@‘é‘bﬁ Sod DEIFH.

8o (R): 2E0 EDNESE ozodBd UV SE0Es HoBaddyde d6&Fad

DNA ¥den 5708508308 Trdoz Joihd” sdudd.

Which of the following is true?
& 808 TS B SBgH0?
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
R (A) Sob8osn (R)Todr Sdgbn S00cdn (A)8 (R) 20808 ddde
1
Both (A) and (R) are true. but (R) is not the correct explanation of (A)
(A) 500030 (R)Bodsr Sdgdn, 50 (A)§ (R) 985308 Q&8 5o

o R



(A) 1s true. but (R) 1s false

(A) $8550, 5 (R) eddgsm
3. %

(A) is false. but (R) is true

(A) eddgsw, 20 (R) degdw

4 o

Question Number : 38 Question Id : 492863998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is involved in silencing specific mRNA?

& Bod o8 233 MRNA S 28§y (silencing) Boheros® F&TIH 26?
Options:
Complementary DNA molecule
LordE DNA @m0y

Protein template

IS Sord Doddn

Cellulose template

ﬁmmg@*ﬁ [arRn Hesdon

Complementory RNA molecule

Sogrds RNA eseand
4 &

Question Number : 39 Question Id : 492863999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : Transgenic Golden Rice is rich in Vitamin A and prevents blindness.
Reason (R):  Itis obtamed from “Taiwan.

APED0 (A): RS 2o 56 (FGSSD) Soth LS AJE ST &od woddod
Q&G oda.

8o (R): 26 8o Sod odoldod.

Which of the following is true?

& 808 TUS° I DSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 5005 (R)Bodr Hégsn Sdak» (A)& (R) ¥0G08 5=

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
(A) 50050 (R)Bodr Hégs0, 520 (A) 8 (R) 50508 D58 526

(A) 1s true. but (R) 1s false

(A) S8g00, 570 (R) wdegdon
3.

(A) 1s false, but (R) 1s true

(A) oddgd0, 520 (R) Segadan
4 ®

Question Number : 40 Question Id : 4928631000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : Plants association with symbiotic species show benefits such as resistance
to root-borne pathogens. tolerance to drought.

Reason (R): Fungal symbionts in plant-fungal symbiotic associations facilitate
absorption of phosphorous by the plant from the soil.

APEI0 (A): BwEHon STESd THod To dTTdo Jod I¢ oo Tgood
SoriEPe ol S Hdon STErard) SLnsod ¥§ S0l ergren
FoLos™0.

s¢mo (R): JDrESSdored drado afn I od 300 STEHen D)8

of THBS Fgohislnd” FEderan.

g

Which of the following is true?
& B0 TS° 20 HBgB0?
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) Sob8osn (R)Tods Segdon H8asn (A)§ (R) 305308 D58
L.
Both (A) and (R) are true. but (R) is not the correct explanation of (A)
& (A) So8csn (R)Bodh 285w, 20 (A) 8 (R) S60308 Didm 5

(A) 1s true. but (R) 1s false

(A) 35500, 570 (R) edegsbw
3.

(A) 1s false. but (R) 1s true

(A) oddgd0, 20 (R) S&gh0

4 ®
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Section Marks: 40
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Group All Questions: No
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Sub-Section 1d: 49286326
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4928631001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I

(a) Reproductively isolated from the (1) Genetic unit
individuals of other species

(b) Sharing the same ecological niche (11)  Anevolutionary unit

(¢) Showing similarity in the karyotype (111) A breeding unit

(d) Having similar structural and functional (1v) an ecological unit
characteristics

Eob TEY aEHES0s
erdee -1 erde - 11
(a) 288 Jodd LHod PSgSS (1) 8 ol adg Wwdreso
DSES BSBYR00
(b) a3 25788 TTQ) Howootrow (11) & ol D0 [P0
() 2B888S FarSbdwe dbod drbron (1) 28 of Pads Hhreo
(d) Qo) 8, BoSrE)E ofmrod” iv) =@ o8 2358 Pirwo

#&*égé%ﬁ) 508 Srotron

The correct answer 1s
B8 wond 2avew

Options:
@ @® (@ @
Lo @) W @ @)



@ ® © @
L G G 6

@ o (© (@
(1) Gv) (1) (1)
=9

@ ® (© @
n @ (@) @)

4 ®

Question Number : 42 Question Id : 4928631002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Charles Darwin (1) Systema Naturae
(b) JohnRay (11)  Natural History
(c) Buffon (111)  Historia Generalis plantarum
(d) Lmnaeus (tv)  The origin of species

§ob B 2S58S0s

erde -1 erfar - 11
(@) TV &0 (1) IO S IR
(b) =o73T (11) SWES P
(€) argdFrs (1)) &Yooz BT Folrda
(d) OFHoo Iv) erédo &8

The correct answer 15

08 BoNY 2o

Options:

@ @ () (@
(v) (@) (i) (i)
1. ®



(Ia} (b) (f;) (::_1)
Lo W) ) () (@)

@ © © @
L. @ @ ) GiD

(@ b (© (@
o (v) (i) (1) (1)

Question Number : 43 Question Id : 4928631003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Asymmetry (1) Cmdaria
(b) Radial symmetry (11) Platyhelmenthes
(c) Bilateral symmetry and Enterocoelom (111) Porifera
(d) Bilateral symmetry without body cavity (1v) Hemichordata

§od TEY uSHES0s

erde -1 o - 11
(@) odgsdo (1) e talonty
(b) Ty R0 (11) T 108D
(€) Bgrd) TR0 Sodoln wog F0ILITo (1ii1) oo
(d) &gard) FRso Hoboin ¥6880rE Srdsw (Iv) ZrosPir

The correct answer 1s
N8 oy =amew
Options:

@ ® () (@
L @O G v G



@ @® © @
- ) @) @au) (v

@ ® © @
. @) GG @)

@ @ © @
() @) @G (@)
4

Question Number : 44 Question Id : 4928631004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The cells which form blood brain barrier m the central nervous system are

Bois b Bg5365° Bod TES® D ¥eren SEBN-Dodk ©IT TR WGBS S rEHEd

—0

Options:

Oligo dendrocytes

SOFTRBoIE &)
L
Astrocytes
5[ o &5y
5 o o g
Ependymal cells
QD 0BNE Segren
z 8 e
Schwann cells
g Bearen
4 B

Question Number : 45 Question Id : 4928631005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (S) : The amphibian blood 1s composed of erythrocytes. leucocytes and
thrombocytes. The thrombocytes help in haemostasis.

Reason (R):  The haemostasis regulates the body temperature in poikilotherms.
g (S): Gfoodore 808" JPEEETTw, BudEsaray 0ok |Frod R

GoLrow. [Fod Ry SERraR) wdELERs (raryhd) &dyderon
wdmo (R): o83 2hod’ TarThO TF eI Ehoddd

Which of the following 1s true?

& 8o TAS' G HSgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) S280i0 (R)Bodr Sdgdn S080dn (S)§ (R) 90808 D¢

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) SoBas0 (R) ok deghn, 59 (S) & (R) $05%08 58 52

-

(S) 15 true. but (R) 1s false

(S) d&gh0, 570 (R) eddgshn
3. ¢

(S) 1s false. but (R) 1s true

(S) ed&gin, 5 (R) S50
4,

Question Number : 46 Question Id : 4928631006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Crab (1) Green glands
(b) Dugesia (11) Malpighian tubules
(¢) Wuchereria (i11) Renette glands
(d) Scolopendra (iv) Flame cells

Bod TEY 2SBES0s

e -1 e - 11
(@) o (1) 58 odben
(b) &oABosr (i) SrdyEansS To¥w
(¢) &wWobasr (1i1) BRE Hodow
d) &S woE (1v) e Seoren

The correct answer 1s

58 850208 223720

Options:
@@ O (@© (@
e G @6

@@ @® (@ @
, O () Gv) (1)

(@ b (o (@
_— @ @) () (1)
(@@ @® (© (@
s O () @) @)

Question Number : 47 Question Id : 4928631007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1
(a) Chelonia

(b) Rhynchocephalia
(¢) Crocodilia
(d) Squamata

ol T8 2EBTHodk
erder -1

(a) 8e*od

(b) BoFwTFdasr

(c) §'s&dcsir

(@) apcdoer

The correct answer is
B8 o aarew

Options:

(@ ® (0
s O () (i)

@ O (©

Lo W) () @

(@ @M (o)
oy (1) (@) (@)

(@ (@® (o)
E (iv) (1) (1)

4.

Question Number : 48 Question Id : 4928631008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

(d)
(iv)

(d)
(ii)
(d)
(iv)

(d)
(1)

List-1I
(1)  Alligator
(1) Chameleon
(111) Sphenodon
(iv) Testudo

e - 11
(1) e&ned
(i1) SdSSrs
(111) ?;:J;S*ca‘*ﬁ

(v) 8K

Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Match the following
List -1 List-1I
(a) Each half of the lower jaw is formed by 6 bones (1) Awves
(b) Lacrimal and Harderian glands appeared for the first time (1) Reptiles
(c) Presence of only right systemic Arch (111) Amphibians
(d) Each half of the lower jaw 1s made of single bone (iv) Mammals

Bod TEY 2dBETes

e -1 e -11
(@) Bod SIS (B8 BGeriiin 6 ISnEOE JY)ES (1) Hgoen
() orBod Hobosn FPooha oghen IS IESD (i) S6Sydren
(€) %&3TE Thin Ir@d LOAKD (iii) wohbores
(d) BobESE B8 vferrdn of I EOASD (iv) 8soren

The correct answer 1s
D8 Lo 2T

Options:

@ @ © (@
L, @ ) @) )

(@ (b)) () @
, ) ) @) @)

e

@ ® © @
e ) @ (v G
@ ® © @
i) G) Gv) (i)

4 %

Question Number : 49 Question Id : 4928631009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Match the following

List-1
Organism

(a) Trypanosoma

(b) Euglena
(¢c) Giardia

(d) Trichonympha

BoB T8 REHET0s

erde -1
)
(a) E38Fs5r
(b) oS
() =cSrgoss
(d) S0

The correct answer is

D8 o are

Options:

(1)

(i1)
(iii)
(iv)

(1)

(i)
(i)
(1v)

List-1I

Number of Flagella
Many

2

1

8

e - 11
STrw Qopg
T

2

1

8

@ ® (o)

G ) GV

(@ (@® (o)

L (i) Gv) (D)

(@ b (o)

L. @) @ G

(d)

(d

@)

(d)
(1v)



(@ (b)) () (@
(v) (1) (i) (i)

4 ®

Question Number : 50 Question Id : 4928631010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the flagellum is provided with two or more rows of lateral appendages and the axoneme
ends in a terminal naked filament. then 1t belongs to this type

@foh S0P FE) Ao Tren ok BT wod¥ol IS SHBYS” wod, wED

=N

i ALY

S0P o &) vody oMY wododog E5°8i057Q) HoBothdon

Options:
Pantonematic
s LTe T ARPA PR wl 1]
1 %
Stichoneinatic
WEAS,EIE
o ® a
Pantacronematic
FOLTE VIS
2+
Acronematic
DEQS~eE
4

Question Number : 51 Question Id : 4928631011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (S) : Mechanical vector merely transfers the infective stage of a parasite.

Reason (R) : Inthis vector a part of development of parasite takes place before it gets
transferred to another host.

Fewg (S): cSroi@¥ SieEsw BSoly SoED FoElE Sos Som Dokl
80 (R): & g EIS° STHRD H088 £I8 SoNoBS*Y Fod wdIh ok

Which of the following is true?
& 1808 TS QB DHgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

(S) S08c%s (R)Todr éégéﬁw S08030 (S) &8 (R) é&@o.‘é DDOED
1. ®

Both (S) and (R) are true. but (R) is not the correct explanation of (S)

(S) H08c%y (R) Do ﬁégaﬁm @ (S)8 (R) ﬁﬁ@oaﬁ Smbtea 57
> %

(S) 1s true. but (R) 15 false

(8) 855w, 50 (R) wddgin
e

(S) 1s false. but (R) 1s true
e~ (S) ed&gdn, 50 (R) 8552

Question Number : 52 Question Id : 4928631012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following;
List-1
(a) Cytozoic parasite

(b) Coelozoic parasite

(¢c) Histozoic parasite

(d) Hyper parasite

§ob TBI 2E55B0s

arda -]

(a) Serod Ho°d) £

(b) T8 Hood &2

(€) oo Jo7F) £

(d) o8 o) £

The correct answer 1s

58 wond 2T

Options:

(a)
(Iv)
1 ®

(a)
, o (i)

(a)

(1)

o %

(a)

i G

(b)
(1)

(b)
(1)
(b)
(iii)

(b)
(iv)

(c)
(1)

(c)
(11)
(c)
(11)

(c)
(11)

(d)
(iii)

(d)
(iv)

(d)
(1v)

(d)

List-1I
(1) Lives with i the cavities of hosts body

(1) Lives between the cells of the tissue and
organs of the host

(111) Lives within the hosts cells

(iv) A parasite lives in/on the body of another
parasite

e - 11

(1) ©@&Foxn 88 oo LITow

(1) Seereorod™ B H¢g Dboin vichare gy
EJIoN

(111) @&Fon Sero S*He LaFow
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Question Number : 53 Question Id : 4928631013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify sequence of stages in the Golgi cycle of plasmodium vivax.
a)  Schizont

b) Amoeboid

c) Trophozoite

d)  Signet-ring
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Options:
c—>d—->b—oa
I

a—3>¢c—a3b-—d

2im a-3b—=ec—d

d-—>c-3a-—3b
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Question Number : 54 Question Id : 4928631014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cockroach has ‘superposition vision'. This type of vision has the following characteristic
features ‘EXCEPT’

& §o TAS” J wFdn FR0E DwE), JrdHTElS HeD0owrdd Jowohold TG

Options:



It generates a blurred image

20 O] (D8Dowrd) JGyBds
i -

o B

The ommatidium receives light not only through 1ts own cornea but also from adjoining
ommatidia

BEI3ET0Fin HDEDLOIN DHod ISP 5708 8ol FRoT KDY JEoF

HPELLwo Lod IS 5708 o e Jorazow

It produces Mosaic Vision

4 ®

Superposition image is formed in the dim light and these images are formed in
nocturnal insects

Brdd PRUS ©8Dowo Jedad S8 ST GHdyd TGN sLTes®t A8y

Question Number : 55 Question Id : 4928631015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In cockroach, if the sub-oesophageal ganglion is damaged. which part of the cockroach
is affected?

THoES’ oFuird TI¥ & 208 BEFoST J S HOT HIVBW

Options:

Abdomen

€5 L5800

Ommatidia

S|ZToTen



Wings and legs

T8 wo N Talonty) E""‘fﬁ%)
3.

Reproductive organs

DEBE BHSToT 00

Question Number : 56 Question Id : 4928631016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statement with reference to the nervous system of the cockroach
a)  The nervous system of cockroach is called as Autonomous nervous system

b)  There are 3 thoracic and 6 abdominal ganglion

¢) Sub-oesophageal ganglion controls the movements of mouth parts

d)  The 6% abdominal ganglion innervates the 6% abdominal segment

SHoE & 5’}55’15{35\3 20WOHONN VOGN TrgPLON BL0Y0

Ly

a) G088 & Doderd) Boo THE FE JEY e BrE 2T 08
b) & $5558° 3 SETEBogoen $80sn 6 SBTTE Dogoenoiron

) of a8 Trs 56 Y08 Ferie &80 Aco@ois:
d 635 8558 %06 65 &&Poberds ko DHB0ITFoss

The correct answer 1s
éﬁ@o;ﬁ SR LTALR IR Y

Options:

a.d&c

1 %

a.b&c
%o

b.c&d
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d&b

Question Number : 57 Question Id : 4928631017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an ecosystem each organism occupies a particular place and has a functional role and it
1s known as

] = k . oy == [ ey, 4 e Ty e “
e dardde SgHQS" ©8 d wf PBH0S" AITroW BArS 8 TG DSo0trdd

Options:

Habitat

89 T° 00 s

Ecotone

. =
E’q ¢ mi\::'

!

Ecological Niche

3 &

Ecological Pyramid

Eordde DEE

Question Number : 58 Question Id : 4928631018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With reference to temperature adaptations, identify A. B. C of the following graph

eI o wdbirory ugrdom & §od radod A, B Boddin C ol #gowskn

&

7

Internal level
Wodd Arox

&
erig o
External level
Options:

A B
Regulators Partial regulators
BSos~doen rEEE s doen

1 ®
A B
Partial Regulators Regulators
T EE|ESos S Fhosedomd
2 ®
A B
Conformers Regulators
WG Eow BSosrdowy
z
A B
Regulators Conformers
BosSown 2GRSO

4 ®

C

Conformers

wdsdss e

E

Conformers

wdodEIsdews

C
Partial regulators

FEgosdoen

C

Partial regulators
FEE B e



Question Number : 59 Question Id : 4928631019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following equation describes the exponential growth of a population

& 808 TES® Q DG EN IHFIVCDSE (drarcl) 58 adryr RGOS Jordotd
Options:
dN E-N
e I*‘M —r
dr K
1 8
dadN
N =
dt
2> o
.t
}*J.hf = d?\f‘r
3 % §
dt K
b : IF'J.-INT - b
~— dN K—N
4 ®

Question Number : 60 Question Id : 4928631020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1
(a) Villikinin
(b) Secretin
(¢) Gasirin

(d) Cholecystokinin

8o B 2EHEHos
e -1

(@) DOBIS

(b) ES

() Mm@

(d) SOIFTIIS

The correct answer is
08 Lo 2w

Options:

@ ® (o
 x ) @ ()

(@ (@® (o)
- () (1) (1)
(@ @ (o
i3 av) (@) (@

@ (b (o)
Le G @ (D

(d)
(iv)

(d)
(1v)

(d)
(iii)

(d)
(1v)

(11)
(i11)

(iv)

(1)

(11)
(111)
(1v)

List-1I
stimulates the secretion of HCI and pepsinogen
stimulates the secretions of H,O and HCO;~

stimulates intestinal epitheliar movement to
increase nutrient absorption

stimulates the secretion of pancreatic enzymes and
bile juice

arde -1

HCl 508050 )88 @aodhdrss (@dhohdd
H,0 %8050 HCO;™ o Baoshedo (@ohodds
DHE Fivro Sl (DBD0HS:

o JoBoen Hoddin PEETA) PIOWETR)
(280w



Question Number : 61 Question Id : 4928631021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Partial pressures of O, and CO, in systemic vein carrying deoxygenated blood are

@'Eréinde.‘i*a @:Eaadiréégo@ O, Hdoiw CO, o 88 haaren & JPom oo
Options:

95 & 40 mm Hg

1 ®

40 & 45 mm Hg
= o

104 & 40 mm Hg

3 ®

120 & 80 mm Hg

g

Question Number : 62 Question Id : 4928631022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

When blood vessel is injured a number of physiological mechanisms are activated that
promote hemostasis. Identify the correct group from the following

08 S¢S0 mobDsYd eIg GG choEromren SIS AT dn (Fargdl) o
DSSgHK. (Bod TAS® B HOTHES

Options:
1. %

Vasoconstriction. mcrease in colloidal osmotic pressure. tissue fluid formation

GETHH0B U0, Burowdd |Gaddds DEIDN DKL, Eeare BHS00 i‘.‘;»’ﬁgd’mm

Platelet plug formation. tissue fluid formation. lymphocytes action

g woite HHE :‘Jfﬁg{ﬁ}i}.' Beoerre (50300 Ddﬁj&)ri.lq @u@f&ieﬁ:&ﬁg
i =



Vasoconstriction, platelet plug formation. production of web of fibrin protein

SET¢ LoFWdn, yully ASE 35&&&&&* 203 FEHe So bdﬁjc&sm
3.

4 %

Production of web of fibrin protein, plasma protein formation. tissue fluid formation

¥
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Question Number : 63 Question | d : 4928631023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Urea-excreting animals require much less water than the ammonotelic
animals.

Reason (R) : Some amount of urea retained in the medullary fluid of kidneys help in the
maintenance of desired osmolarity.

Tgmg (S):  chrbake Ddgoth Ehen wTrFBOE AYosT) S80S D EISEIB
80 (R): DFED0EI0STA HASTA (BIB0S" FHRIE cSardalrdo QOOSTRETR
T8 SIS e Erol EhoddEotron

Which of the following 1s true?
& 1808 TS’ B DBgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) So8c50 (R) 3o REgR0 0BAsW (S)8 (R) Ka&@oé Qe
1. %
Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(8) S00ci (R)Bodr d85:50, 570 (S)§ (R) 5865308 DHde s
S
(S) 1s true. but (R) 1s false

(S) ﬁégaﬁmj 50 (R) @-msgm;
3 %



(S) 1s false. but (R) 1s true

| (8) esggan, w2 R) dEgse
4.

Question Number : 64 Question |d : 4928631024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Uric acid crystals m joints (1)  Arthritis
(b) Inflammation of joints (11) Auto immuno disorder
(c) Myasthenia gravis (111) Tetany
(d) Prolonged contraction of muscle (iv) Osteoporosis
(v) Gout
& 1Boh TEI 2dBrdyRn
erde - 1 e - 1
(a) SgHodoh chrdsdy HyiisTen (1) @@éﬂﬁ
éﬁ]dﬁjcﬁoéa
(b) 8godod DS 28 (i) dgodo SHITEE Difye
(€) SooHRIcse [rad (iil) ¢oogso
(d) o0& VBoss HoFaren (iv) spBrIFED
v) &

The correct answer 1s
58 20N 2o

Options:
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(@ ® () (@
L, ® @ ) (i)

@ ® © @
L ® )

@ @ © @
(v) Gv) (i) (1)
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Question Number : 65 Question Id : 4928631025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Cerebrospinal fluid serves as shock absorbing medium

Reason (R) : Cerebrospinal fluid is recycled 4 times per day in order to clear out
metabolites and toxins

g (S): DR P (GhSn wrTrgRrery DHod S8oTdrdgiomr DAV
Somo (R): SR 306 (550 $86%m 4 6 9issBao Bobndl T #5Ew

ﬁé-’ganm So8asw 333’15:5“0;@3 Saofiodeadoaon

Which of the following is true?
& 1808 TS 28 H8gdn?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) 00 (R) Bodker Heégsn 5005 (S) 8 (R) $6@08 258w
i, .
Both (S) and (R) are true, but (R) is not the correct explanation of (S)
(S) $o8a0i0 (R)Bods veghn, 50 (S) 8 (R) 985308 258 5%
ER
(S) 1s true. but (R) 1s false

(S) B850, 57 (R) e9dbgson
3 %



(S) 1s false, but (R) 1s true

(S) wd8gsn, 2 (R) Hegs0
4 %

Question Number : 66 Question Id : 4928631026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following hormone response signal transduction pathway. recognize A and B
& (Bob HT 0 Wy ool DS EraydEad” o A $o8ddn B oo Hohdn

epinephrine JLJ@w

plasma membrane Jarj&cdo

\ adenylate

cyclase
]f3 w&EITE VB
protein kinase - A : _ |protein kinase - A
r&SE3& -A PEIEIE - A

e
glycogen —— glucose
[INES — {80

Options:
A - Epinephrine Receptor. B - GTP
A-JD3HS rHgo, B-GTP

A - Epinephrine receptor subunit. B - cAMP
A - IDIDS rIrED 35635385, B - cCAMP



A - Gprotein, B - cGMP
. A-G@aS, B-cGMP

A - G Protein, B - cyclic AMP
A A-GPFES, B-Soch AMP

Question Number : 67 Question Id : 4928631027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Natural killer cells form the body’s most important cells of defense and
they destroy the infected cells or altered self cells in an antibody

independent manner

Reason (R) : The reaction time of NK cells 1s fast as they are always in an active form
to identify and destroy even small cancer cells well before they form a
tumor

agmg (S): DEFairods Soren B8’ é)‘v'a‘i:‘ﬁj S gEearen 000510 Ra) JoEE
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Which of the following 1s true?
& 1808 TS A8 DEgB0?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
(S) Sobcie (R)Bodr S8zl So8odn (S) 8§ (R) 965308 D58
e
Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) Soocin (R)Bodr €50, 570 (S) 8 (R) 38508 2d8 5
o o
(S) 1s true. but (R) 1s false

| (8) 88550, 20 (R) 085
=



(S) 1s false. but (R) 1s true

(S) ed8gdn, 50 (R) 8550
4 % o)

Question Number : 68 Question Id : 4928631028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following produces testosterone?

DYPRTDH PIoHHD V?

Options:

Primordial germ cells

PEanE Degeoren

Levydig cells

58 O&A Eeoren

Prostrate gland
Frdon(iod

Bulbourethral gland

2SNFBBES (Hos

Question Number : 69 Question Id : 4928631029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) LNG-20 (1) Oral contraceptive
(b) Saheli (11) Useful to detect genetic defects
(c) Ammniocentesis (111) Infrauterine device
(d) VagmalRing (iv) Prevention of conception

Eod T8 2SHEE0E

erder - 1 e - 11
(a) LNG-20 (1) HHITEE TEI~E
(b) &3O (1) =dogs’Pren HoBowkbd® & dydoSs
(€) GEs008 (111) fopdairodt o
(d) Sradecio (1v) HEordes Q850

The correct answer 1s
o0 Lo 2arew

Options:
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il (v) (u) @) (1)
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Question Number : 70 Question Id : 4928631030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Holandric genes (1)  Pleiotropy
(b) Multiple effects of a single gene (11)  Hypertrichosis
(¢) Skin colour in man (111)  Multiple Alleles
(d) ABOBlood types (v)  Polygenic inheritance

Bod TEI 2EHEB0s

erdee - 1 erdoe - 11
(@) SFerodf adogPen (1) QBT
(b) =38 28055 w88 Ea7) KN Syigdrarods (i1) a6 @?R}ﬁ
Berddo Bosns
(€) BrS5IEHES50 (iil)  eSodcsni)DEoe
(d) ABOdggSoen (1v) advalgedsolss

The correct answer is
58 2oy LT

Options:
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@ @ («© (@
(i) (@ (v) (1)
o

Question Number : 71 Question Id : 4928631031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Chronic Myeloid Leukemia (CML), a type of blood cancer. is caused due to

§°08 Soerond wog8andir (CML) e $8s7$)8 Jddbs s de b

Options:

reciprocal translocation between chromosomes 9 and 22

9 00an 22 FErE S0 e FIrods D8 Sordy

1. % '
chromosomal inversions between chromosomes 9 and 22

0 508csw 22 F'3rStSwen doBodordy (Inversion)
-

chromosomal translocations between 8 and 14

8 Ho8an 14 Fars’sne oy FT088 S8y S0
o B '

trisomy

Question Number : 72 Question Id : 4928631032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the sequence of steps in DNA finger printing.
a) Isolation of genomic DNA

b)  Separation by electrophoresis

¢) Denaturation of DNA

d) Hybndization with probe

e) Fragmenting DNA with restriction enzymes

f)  Southern Blotting

g)  Exposure on film

DNA 20ii6 @otlofi Bwg), S0G08 I8 Ear) 8o
a) DNAD 36 Bodnd

b) JUEITID o IS VobEo

c) DNA&wrs d8ed

d &S '8 @IS

e) OJ@ES doaMes DNA poldsss

f) H&88 erd3of

g) DT 5

=

J

wSDoDOTIL

e

Options:

¢ APb-c—dJe-—Eg

a—e—-b—oc—osf—od—og
2. ¥

a—-Cc—>b—ose—sdofog
S

a—se—oc—obofodog
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Question Number : 73 Question Id : 4928631033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Statement (S) : Less than 2% of the human genome encodes for functional units called

‘proteins’
Reason (R) : Majority of the human genome is regulatory in nature
g (S): 1SS B0 Indo adgHest 2% S E50.5 adoghen @Eéﬁ.}f}c‘ﬁ:}

DOBE Yy B0

8o (R): Srdd ETNE whlyrriin FErddor EIDHTSET Godod

Which of the following 1s true?
& 18080 TUS* I8 DBgH?

Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

(S) HS080%0 (R}aucajv é@’g;’m Svlelevey) (S)§ (R) éa@a:ﬁ Jaded
1. ®

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(8) $o80i (R)Bodr d8g50, 50 (S) & (R) 985308 258 578
> B
(S) 1s true, but (R) is false
(8) Sdgdaz, 570 (R) wddgdow
ER i
(S) 1s false, but (R) is true
(S) od8gsm, 50 (R) S&gdw
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Question Number : 74 Question Id : 4928631034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Theory of Biogenesis was proposed by

2BrBIVD DTS PEFHOVS TYIE

b

Options:



George Cuvier

ea*g oaosd
1%

Louis Pasteur

% lovey &%:35
> o

J.B.S. Haldane

JBS. ?@5

o R

Von Helmont

Question Number : 75 Question Id : 4928631035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Who is the ‘Cro-Magnon man’ ?

B'Srie ;YT Hedaadids
Options:
Homo erectiis
R JBES
1 % N
Homo sapiens
FFrDHAD)
> of ¥
Homo neaderthalensis

SRV EE T
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Homo habilis

- o
FFAr TDen
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Question Number : 76 Question Id : 4928631036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Seymouria represents the evolutionary biological link between the following organisms

s f 8 ¥

£550eoddomr Hrddir @ e 308y JoTI DI IOHE &HO
Options:
fishes and amphibians

i Woen 20dcin SaSicldoren

amphibians and reptiles

&icihdioren H8odwn E\’:ﬁ%ﬁﬁm

reptiles and birds

SOJyTren HDdoin Hgven

reptiles and mammals
ﬁﬁz@;}ﬁﬂm So8o5w §8Tren

Question Number : 77 Question Id : 4928631037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Surrogate mother 1s

Sorongd (Surrogate mother) esSm
Options:
The female that develops the offspring of another one in its womb.

& Nomdoiotones? ;’nﬁ“éﬂ;u?@l SIARNA Do &9
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The male that donates the sperm to fertilize an egg

w8 BoER) Dobfdmo adPit VESToi aYS PHLTS

The female that donates the egg for fertilization

©oddobEln% 85 vom) ordin B |Q

Introduction of invitro fertilized ovum into the same female

wﬁgﬁﬂﬁéém TSP Dcﬁgcﬁﬁ 20T Lo @ﬂ ﬁU“q‘:éoﬁ&fD&ﬁ‘”ﬁ% 268 Dol

Question Number : 78 Question I d : 4928631038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fungal disease affecting poutry 1s

S¢8 dogaos 3o T8 I8
Options:
Gumboro

Brooders pneumonia

ard S Socdraosr

o £ 7)oy
Infectious coryza

Qe wiohe Fowr

Ranikhet
o Ar-Th]
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Match the following

(@)
(b)

(c)
(d)

So&

(@)
(b)

(c)
(d)

List-1
First clinical gene Therapy
Transfection

Synthetic oligode oxynucleosides
PCR

T 2EBYB0d
erde - 1
G820y DES)
EryyeEs

20388 sOFE e§SriarnE)
PCR

The correct answer is

58 oS Barn

Options:
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@ ® (@ (@
() () (av) (1)
3. v

@ @® (© (@
= i) @ v @)

(i1)

(iii)
(iv)

1
(11)

(iii)
(iv)

List-1I
DNA Amplification

Introduction of genetically modified
DNA into a Eukaryotic cell

Adenosine deaminase
Silencing genes

e - 11

DNA &qif0e388=00

280550818 Bobond DNA & Qesoss
o0S*R HIF0dT S0
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Question Number : 80 Question Id : 4928631040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Match the following
List-1
(a) Ovaprim (1)
(b) o —1—antitrypsin (11)
(¢) Taxoid (111)
(d) Propolis (1v)
W)
808 B 2EBEB6E
e - 1
(@) eaor@an (1)
(b) o —1-cSro&Edye (11)
(€) érsnond (111)
(d) @203 (iv)
()

The correct answer 1s

28 oS gt

Options:
(@ @® () (@
L ® @ G @
@ @® (© @
,w @ G @ @

List-1I
Anti cancer drug

Used i the treatment of inflammation and
superficial burns

Inactivated exotoxin used as vaccine against
tetanus

Used in the treatment of emphysema
Used in induced breeding of fish

e - 11

odrodisd) Tado (drug)

5708 GHdde mdirodn, Trgoio
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Question Number : 81 Question Id : 4928631041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following entries related to fundamental forces and their manifestations

(a) Nuclear force (1) Electromagnetic interaction

(b) Force between sodium and (11) Gravitational interaction
chlorine 1ons in sodium chloride

(¢) Energy from the sun (111) Strong interaction

(d) Oscillations of a simple pendulum  (1v) Weak interaction

G088 oren, T8 D08 JHbpods D00l §od woTwid 28S8S0

() o weo (i) gl oot 5

(b) F&cho §BES™ (11) fododgads g
FHod0, §0 wairde gy 2o

() SBordogd sood 48 (111) Poe ©d3

(d) odndvlo Gug o (V) oS B8y

The correct answer 1s

o0 LoR BTeN
Options:
(a) (b) (c) (d)
L) G @ 0
(a) b (0 (d)
i) O W
(a) (b) (¢) (d)

LG @ @ G



(a) (b) (c) (d)

) @ () )
®
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Question Number : 82 Question Id : 4928631042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The length and diameter of a cylinder are measured to be 10.1031 cm and 2.0935 cm
respectively. The volume of the cylinder to an appropriate significant figures 1s

2.8 Jrddo Do), réy, argdtw H8dm 10.1031 cm H$odasn 2.0935 cm wd FOQTE.

@ond, Sk cﬁ"‘gg Qopgo HBO GOoR m:::ﬁ;m SBooE), 2oRnddTrmo

Options:

139.04 cm®

1 %

34.76 cm?
o o

134.75 cmd?
3 ®

. x 4635 cny’

Question Number : 83 Question Id : 4928631043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A fly 1s in rectilinear motion as described by the graph. The average speed of the fly 1s

§ods aS (MY oS &8 Sl BPOh Vol &ob. Bowd Sl BwE), St &

(]
B
f ot s ".l'-"”

J

v
(m/sec)

J
%I

-2
h
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Options:

6.75 m/s
1.

7.25 m/s
! #®

_— 10.15 m/s

4.75 m/s

Question Number : 84 Question Id : 4928631044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man of height 7.33 ft releases a stone from the slingshot just above his head. If the stone
travels in a vertical direction towards the sky with velocity of 10 ms™, then the time it
takes to reach the ground is (Assume acceleration due to gravity g = 10 ms—)

D8y 7.33 ft fo o8 Hodh, 85 SoP Sood HBS (slingshot) oo o8 Trond A&

DA, & TPow, YY) BFS® wsFoRY 10 msT IKed Poirdy, © T FrW

DEHF BT A8 ERFI swo, (Mg dmo g = 10 ms? w8 od)

Options:

1.65s

1 %

4 &

Question Number : 85 Question Id : 4928631045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A 90 N mass is hung on a rope tied between two poles as shown in the figure. The tension
T, and T, in the two parts of the rope are (in N)

~

S0e5° i, Bod Yowre iy VRS e 90 N o (Bdgo78d Jerdbad.

& BwE), Bod Frmred’ GoG $3g8 T, 500050 T, Jendes $&dm N o

Options:

180 6 180

3+l 2 74341
1.

90 /6 180

Bl 2 T3
&=

180 43 90

Bl 2 7B+l
o R

90 3 90

«.EH 7 \6
4 ®

Question Number : 86 Question Id : 4928631046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Object 4 moves uniformly with a constant speed v to reach object B. while B in turn moves
rectilinearly with a uniform velocity of u < v. At the initial moment v is perpendicular to
1 and the positions are separated by a distance /. The object 4 meets the object B at time +.

The value of “#" 15

S99 B BEE S8 36 38 V& DE6aT 5006, B BIhoworr, DE68
& $OJod. T Eao IF V, U K ©owom wotnod. T8 PIwn [ Jded”

{g_,}

—0

GIow. 3P 4, SXNPH B 15700 ¢ Sendofotnod. @od  Jend

Options:

Question Number : 87 Question |d : 4928631047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A rock of mass m 1s thrown at an angle o with respect to the horizontal. Assume the
acceleration due to gravity 1s g and that the motion of the rock is in the Y-Z plane. The
component of the angular momentum at time ‘¢ * in the X-direction is

G550°8 Mo 3, §8a J3rodd 8 0800 Twinm JBVBTH. e $idwo g
238, 30 Fodo Y-Z 8008" ¢odosod. w8 X-645" ‘1 5700 3¢ §'ed oo (BHgRr0
Q0E), @O0

Options:



i ®
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—nvCos gt
2
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Question Number : 88 Question Id : 4928631048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A block of 10 kg is sliding at an initial velocity of 5 my/s along the horizontal surface to the
right. The surface has a coefficient of kinetic friction 0.3. The distance to which the block
will slide before coming to rest 1s

(Assume g = 10 m/s?)

10 kg Ko &3y O30 5 m/s &, §8z Sdrodd dwo Job BEIIH THE0h. & ook
0.3 ri&e Joder g0 Gob. w B3I IHoYsE FHFTS S'Ho v =0 &rdo,

&

(g =10 m/s? eS8 0d)

Options:
;¢ 42m

, w 26m

3.8m

4.8 m

Question Number : 89 Question Id : 4928631049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If a spring of spring constant 200 N/m is compressed by 5 cm, then the energy stored in the
spring is

yord Boroso 200 N/m fo (@yorhds 5 cm Doadgss SR, CARISONRSEIAE SR
%8
Options:

. 02517

Question Number : 90 Question Id : 4928631050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The potential energy function for a two dimensional force is given by U= 3xy — 7x. The
force that acts at the point (x, y) is

(Take ; and'j as unit vectors along X-and Y-axes)

Bg8oH werdd 8udd Phaird) U=3xy - Tx 3 Sordq, Do (x.y) 3§ S8
20

(; SoBodo j o X-oboiw Y-esxe ddom Shfoorr &8 osw)

Options:

. 3} . % #
1.@( 9r‘1+7)r+( 3x );

. .(—93:2_1-‘ +7)



(9x2_1‘+?)f+(3x3)}

4 ®

Question Number : 91 Question Id : 4928631051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A uniform disc of radius R is spinned to an angular velocity @_and then carefully placed on
a horizontal surface. If pressure exerted by the disc on surface is regarded as uniform and
the coefficient of friction 1s equal to /. the rotation of the disc will come to a stop in time
t. The value of # is

Fgrddn Rio ol 868 HgH, 'b8ah Io @, STyt ed) @mo Bowod, o

TR g §82 J5rodd Swon GoATEH. wop w AP IV wESo 6T

Goto&F R, Dode oo k& SSrdlodsod, 0§ Edmo [ seos”® sAdrsod.
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o

BAPE 1 IS
Options:

Rw

]

Question Number : 92 Question Id : 4928631052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A hollow sphere of radius R is suspended from a thin rod. If the sphere 1s twisted by a small
angle about the wire axis and released. simple harmonic oscillation (SHM) will ensure
with a period of t,. Now. if the hollow sphere is replaced by a solid sphere of radius and
mass equal to that of hollow sphere. the SHM will have a period t,. The ratio of time
periods (1,/1,) 18

FrgFrgan Rilo e Hg o) Heodd é% $o0d erdboTdh. s Fed), 8 vfo Job,
28 oy oo aqor 08Dy 36O 3R, BI85 o T, & S6¢ Ford)E FoTren
J6Gerow. AP, & D F¥o THos', Tl Tgrdo, (BH50788 HIFIE WIT )
GoN8, 0¥ g YoIrdd o8 widdd sTwo T, @PB0b. P sIES T

Qg (T,/T,)

Options:

d | i

bo |
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Question Number : 93 Question Id : 4928631053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two clocks 4 and B are synchronized to show the same time on earth. Clock A 1s based on
oscillations of spring and clock B 1s based on a pendulum motion. If these two clocks are
talkeen to the surface of the moon. then

Sod KH&osrorws 4 $8dsn B o, grad 8 &8 5ord) Srdlod Q8o 285708800
Doardy. H&osrdo 4 ©3& AR oo srrddtdod, fewrdo Beldd J'olo
fa’@éo‘}_} G0N0, & Dol Haddrorod, WKoltod d00 w8 &2088



Options:
B will run faster than A

B o386 Ago8 Snom HATN0H
i

B slows down compared to A

B. A %08 356 ST
2. v &

Both will show same time and run at equal rates

, oosr 2857erQ) Sordde, SHrIOLNS” HABF:ow
3 |

A will stop working however B will continue to show time

A HAIVoHwo siFrdod, B o) drddn HdBcheo S8radyob
4 % '

Question Number : 94 Question Id : 4928631054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A satellite 1s launched to a distance » from the centre of the earth to have a circular orbit
around the earth. Its orbital velocity to maintain this orbit is (mass of the earth as M)

a8 Y8 SIHUTQ), Erioo oD 1 Erdod”, Frdy by HEEY EEgS”T 8RN
RRrHATR. b & 5SS SodE 8, 5H0dS SgrgRdo, (Prdy ($dgoee M)

Options:
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Question Number : 95 Question Id : 4928631055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Abar 1s made up of material whose Young’s modulus is E. Poisson’s ratio p and is subjected

AV
to hydrostatic pressure p. The fractional change in its volume [7J is

ohof ko E, Fodowrs AN U o Smrdod’ Dobhadd wf Sodods $5H88 S0

_ AV
P B ST [T, T HoRdd0Sr0S” HIE 18 K [ ) QDD

i
Options:
. .
— 1-2
—(1=24)
1. ¢
+J‘U[1+2,u}
2 ® £
i
gt
Pp
3 #®
+3puE
4 ®

Question Number : 96 Question Id : 4928631056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



One ton stone is put on a larger piston of diameter 40 cm of a hydraulic lift and a
pressure P has to be applied on the smaller piston of diameter 2 cm, to lift the stone. The
pressure P. 1s approximately

©oRT . 2 cm Jrgdo Ao DHIS PSS S, & cod IEF S, HeSde P %

35805V chBOD SQB. & addo P Iewnd DSrdd

-

Options:

2 atm
1%

0.2 atm
#

= 1.2 atm

- 0.8 atm

Question Number : 97 Question Id : 4928631057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A body cools from 80 °C to 50 °C after a time interval Az. Assuming that the surrounding
temperature is 20 °C, the temperature of the body after time interval of 2 Az is

Po 5558 At 8558 3339 80 °C %0 50 °C & 38988mo Foddod. HOHo°0
&S 20 °C 0F%), Todgsd 2 At $had 59 GHS deod

Options:

307

1 ®

. % 40°C



Question Number : 98 Question Id : 4928631058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Consider a ball of mass 100 g attached to one end of a spring (4= 800 N/m) and immersed
in 0.5 kg water. Assume the complete system is in thermal equilibrium. The spring is now
stretched to 20 cm and the mass 1s released so that it vibrates up and down. Estimate the
change in temperature of water before the vibrations stop.

(Specific heat of the material of the ball =400 J’kg K
Specific heat of water = 4200 J/kg K)

GSgoe 100 g o 208, k=800 N/m e (2)ofh GBoo¥), &8 T8 8ndod, 0.5 kg vgs®

00VTE. & Jgo HgHY G VNEPES” GodFos. & Ryohd adyd 20 cm
= o 3 o : o)

OB FHED, (B550°3 (2008) 28, otk SoDoBLLVT TA S . & §oddo ehFTDOOE,

I SAESS'D Srdoyss BE oS,

—

208 Jug J3ggo =400 JkgK
26 D3drgo = 4200 Jkg K)

Options:

8.2x10*K

1

6.4 x 107K

o ®

T5x 107 K
3. ¢

59x103 K

4 %

Question Number : 99 Question Id : 4928631059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two carnot engines 4 and B are connected in series in such a way that the work outputs are
equal when the temperatures of hot and cold reservoirs of A are 800 K and 7. and of engine
B are T and 300 K. respectively. Then the temperature T 1s

Bodk sr&ohogren 4 8w B o, o8 ) wendder dSrddotodinm @8’
eddordo BT, 4 Qng), 36, Tl sddreo GPider S63m 800 K Sodoin
I'srr, B33wg), efidos T ododn 300 Kwow eanaw. eiid T deod



Options:

. 400K

450 K

Question Number : 100 Question Id : 4928631060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a kilo mole of methane gas weighs 16 kg. the density of methane at 20°C and 5 atm
pressure 1s
(Use R = 8314 J/’k mol-K)

0.8 865" 3rd BS Trodwy 08P 16 kg wond, 20°C Sodcsn 5 atm HESo 58 B
o (R=28314 J/k mol-K eé&osod)

Options:

23 Lo/ind
o 3.33 kg/m

48 kg/m’?

3.3 x 10~ kg/m?

1 kg/m?

Question Number : 101 Question Id : 4928631061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A standing wave pattern can be represented by an equation like

QI LWIO LD

Gy

w8 D8 S8oll Gy & Bod JPom ol DDES00 N



Options:

. y(x.1)=24sin (kx —cr)

y(x.t) = Asin(kx — ar) + Acos (kx—wr)

> %

'_1'(x,r}:Asiuﬁ:rcosar
3

v(x.1) = Asin(kx + ot ) + Acos (fx — )
4 %

Question Number : 102 Question 1d : 4928631062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A diver, 30 m below water surface is trying to shine a torch light towards the point O which
is horizontally 30 m away. The amount and direction in which diver has to swim (in the
figure) so that the light can not travel outside the surface of water is

(Refractive index of water= %}

A8 eH0Eerd8 30 m BHSS &) w8 HEm, §8a Sdroddor 30 m SrdoS” )
Doty 'O 3 &) 5708 ©BF 30BN PALERINE. & 5708, GH0Sr I wobLS
ROBoWH0ET Godirds HEME JoSErdo, JOHFST LHEI8H50?

: 4
(NS SELSS Hozeso =—)
3
O .
* ’ 30m
_ E4
l}_—}" —————— —} R

Options:



4 m to the left
SS0% 4m

] P
4 m to the right
&8 4m

3.5 m to the right
&8 3.5m

3.5 m to the left
S%%0% 3.5m

Question Number : 103 Question Id : 4928631063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A beaker contains oil upto a height of 28 mm and water upto height of 26 mm. Find the
apparent shift in position of the bottom of the beaker when viewed from the top

=1.33,8.4=14)

( Myater

w8 DG 28 mm Iy SO Seodnde, 26 M I SR ALY EBH o, B ol
QEoNSH%, DES wditerio FdoS" EQ00T Syl dyddo,

(P54=1.33, ng., =14

Options:

. 54 mm

32 mm
28 mm

14 mm
4 <



Question Number : 104 Question Id : 4928631064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In Young’s double slit experiment. two slits are made apart at 3 mun and the screen is placed
50 cm away. The fringe width when light of frequency 5x10' Hz used is

(Given ¢ = 3%10% m/s)

dhofl 2ok WO PAErHodS’, To WO Ado 3 mm s 38 50 cm o Srdeds’
GoDT . Fdeddgo 5x10 Hz e 50080 &S5ovE Déga Lri? e,

(c =3x108 m/s)

Options:

0.36 »* 10~%m
s 1 < 10~*m

2.77 x 10*m

o ®

1 x102m

4 %

Question Number : 105 Question Id : 4928631065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Point charges +q and —q are located at the vertices of a square with diagonals 2/ as shown
in the figure. The magnitude of the electric field strength at a point, located symmetrically
with respect to the vertices of the square at a distance ‘x’ from its center 1is

SL0g" BrHdtnmr, JSTen 2] o ol SHERDY e $§ Do sITen +(q Sodain
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Question Number : 106 Question Id : 4928631066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
At a certain moment. the switch shown in the figure 1s disconnected. The energy of the
oscillations immediately after the switch S” 1s disconnected and at time 0.1 sec from the
time switch is disconnected are, respectively

28 PR eoo HY, HLOoS Wrdd VS 1§ S BRI G, VR B IoL, $oBosw
2ol BODS 0.1 DESH ST7d A6E SoTro §§ Jeoden S&Hdm,

> WW—
8 10
5 s
90 __10 |.1F 100 mH
Options:
2mlJ.0.74 mlJ
1.9

4mJ. 148 mlJ

4mJ.0.74mlJ

2ml. 024 mlJ
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A DC source with internal resistance R_ is connected to circuit as shown in the figure. The
value of R for which the power generated in the circuit is the maximum 1s

S80S Urbdinm, wodd AT R Ao w8 DC 2dsq) Soddrls 50, dodhod”
e dHBodog Fodghn HoZHmLE R Jeod

Options:

1o

13 °
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1_1 2
o o
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The current passing through the AB branch of the circuit shown in the figure is

= (¥

S0 drad Jocho Gy AB T oor Rdorowh Jdogs Dot

1Q g 100

Option_s:
L
17
1. ®
A
17
2.
16
_— 17
g
17
4 ®

Question Number : 109 Question Id : 4928631069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A steady current / flows down a long rod of radius ‘e’ in such a way that its current density
J = k'’ . where kis a positive constant of appropriate dimensions, ‘7 is the radial distance

from the axis and 7 is the unit vector along the radial direction. Then the magnitude of the
magnetic field at any point r ( < @) inside the rod is

08 DEIS 8§ (gddo ‘a’ Kod) Jobr 2.8 JoEE IdgB)Tsre I ISy TS ol
J = kr*r GOBLLNT BIT08. [ E, k @I8 S8 Jden Ko FE)E Jomoso,
rest efo 00 &S Erdo ke F TEHE &¥S’ Hirn H0F vand, §§ST e,

QBT DoddP 1 (r<a) 5¢ wohI o8 ¥ Ho0Srea0

Options:
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Question Number : 110 Question Id : 4928631070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Consider a negatively charged particle moving with a velocity v in a magnetic field B
applied perpendicular to the plane of the paper (into the paper). The particle follows the
path A or B or C or D (shown in the figure)

NS SR8 woorr (570 Hd8) @ohgodBNs echan od o B&, af wwead’d
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Options:
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Question Number : 111 Question Id : 4928631071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The magnitude and direction of a force vector acting on a unit length of thin wire carrying
a current 7 at point ‘O’ if the wire has a semicircular shape of radius R as shown in the
figure.
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Consider two coils of radii 7, and r-,. placed at a distance ‘d” away as shown in the figure.
Assuming the length of the cmls L 1, >>d with n,. n, the number of turns per unit length
of the two coils respectively. the ulumal 111d11ctauce Gf the two coils 1s

TrgFTren 1y S08oiw F,o o Bo IFTrod drdo d Jdom SLBNGST Srdd o
@odrd. IyTen FéJen [, [, >>dsm Isod FEHS SHé Somgen ny. 1, SEHJT
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Question Number : 113 Question Id : 4928631073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A series LCR circuit with R =43 Q and L = 0.5 H has a leading phase angle of 45° at a
frequency of 50 Hz. The capacitance used in the circuit 1s

R=43 Q 5Boiy L=05H& ¥ [55:55 LCR Sedgso, ‘ef}n"}gé@)égo 50 Hz :.‘ré? S8R
&80 45° §Oa ﬁéﬁl&. & J0ood TES TXNDT) Jend

Options:



o BOE

20.2 uF

2789 gk

123 uF

Question Number : 114 Question Id : 4928631074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

The permeability of a medium whose refractive index is 1.5 and permittivity is
443 x 101" F/m is

3865 fombo 1.5 500050 50398 443 x 101 F/m o .8 oirdgs 2000008 dend

Options:

1.26 x 10° H/m

. 0.26 * 10° H'm

- 0.56 x 10° H/'m
o

0.86 x 10~ H/m
ey ®

Question Number : 115 Question Id : 4928631075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 uW of light at 600 nm falls on a metal whose work function is 2 eV. The maximum
number of electrons that can come out of the metal is

SR Pooo 2 eV e wi o, 600 nm fo 1 pWe 5908 38850 Tododiod. wond

o

S750 $000 wohLB IdE JoFde K0R Sopg



Options:

3.0 x 1012
1.9

5.5 x 1014

2.5 % 1010
9 % 109

Question Number : 116 Question Id : 4928631076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A stream of electrons accelerated by a potential difference V falls on the surface of a metal

whose inner potential is ¥, =15 V. Then the refractive index of the metal for the electrons
accelerated by a potential difference of V"= 150 Vis

FBYONE @ V& &880 Bo2dS ef JOFER &Y, wodd FBISHS V, =15 Vie
S GH8dooD HHhd0d. wond, FBITHS B V=150 'S godo Dobat Jogios,
s SUrY 3855 Koeedo

[~

Options:

o 1.05

Question Number : 117 Question Id : 4928631077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A hypothetical radioactive element has a half-life of 20 years. The time it takes for 80% of
the substance to decay 1s

(In5=16.n2=0.7)

2.8 E}Eé@&éé&cﬁr@*&&é Saredo dddd sroo 20 Soddoren. & Sado 80% Jobhdoriade
SISO
(In5=16.In2=0.7)
Options:

30.6 years

30.6 Sodéorew
1 %

45.7 years

45.7 Sod8yoren
2 &

60.3 years

60.3 Soddyore
5. :

80 years

80 Soddyoren
4 ®

Question Number : 118 Question Id : 4928631078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Determine the current passing through the diode D, in the circuit given. Assume these are
Silicon diodes.

3
z,
A
S

NS Swood’d BArE D, o ((R8TroB Jdogdamirtl) ddonotod. ad OIS

SR rLon wsofodk.

D, 3.5 KQ
H A .ﬂ, AN —
5,7 M — SZD’
—A\W
1.7 KQ
Options:
4.2mA
i ®
8.8mA
= ®
7.8mA
= o
9.7mA
-

Question Number : 119 Question Id : 4928631079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Two p-n photodiodes are fabricated from semiconductors with band gap of 2.8 eV and
2.6 eV, respectively.

28 PP SHdm 2.8 €V Hdcin 2.6 eV o efarirstod Bod p-Nl P& $Rrdo
B owd.

Choose the correct statement from the following.
Bod 58S 0N VBTS VHTpI JowEok.
Options:
Both diodes will detect 460 nm light
Soth d@3r&en 460 NN 57080 KBarow
1 ®
First one will detect 460 nm light
, 200686 460 N s7o&Q b0l
%
Second one will detect 460 nm light
Boddd 460 N 3osL N8OS
.
Both of them will not detect 460 nm light

Bodr &rz 460 nn 5708 HBoH8Y
4 ®

Question Number : 120 Question Id : 4928631080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

If the maximum and minimum values of an amplitude modulated signals are respectively
5.9 Vand 1.2 V. the modulation index of the signal is

Fod 50008 JrthgBE wond Josso B 83, B3 Jenden SR 5.9 V Sobadn

1.2 V esond, Soséo G008, ;’nbcéog@&ﬁ BTe )

Options:



66.2%

1. ¢
47%
> B
79.7%
g
83.09%
4 %
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Question Number : 121 Question Id : 4928631081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The radius (in pm) of the 37 orbit of He™ is Li** is respectively

He™ Sotoso Li*" 35 885 argrgo (pm os’) Sbdm
Options:

476.1 ., 158.7

1%

5 238.05 . 158.7

05329 ., 17.63

3 R



1763 ; 1763

4. %

Question Number : 122 Question Id : 4928631082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The wavelength, (in nm) of an electron moving with a velocity of 812 m s~}
(mass of electron =9.1x107! kg and Plank's constant = 6.626x<107** Js) is approximately

812 m 57! 3K0S* 50T JoEs 0B go (MM ves’) DS
(RogS Wbgors =9.1x107! kg $50050 pos QU080 = 6.626x1073* Is)

Options:

626

1 =

347

2 ®
2 % 978

oy 897

Question Number : 123 Question Id : 4928631083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following elements has the largest atomic radius?

Bod Horosros® T8 wdshHE Do J‘*gcﬁ“-‘ga’ﬁ&umo&'?

Options:

Pm

i
, % Sm

Eu
=



Gd

Question Number : 124 Question Id : 4928631084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statement 1s not correct?

Eod DSEweS' I8 HBBPXE 5°&0?
Options:
It is difficult to separate the mixture of Lanthanides
TrodIGe DoFSr) 38 Dosnd EhSw
The size of Zr 1s nearly equal to Hf

Z1 wer Hf Rerds ormdn $30850
2.

The basic character increases from Ce to Lu
Ce dood Lus 576 &80 s
3 ¢ -
Lanthanide contraction is more significant than actinide contraction

EEE& D08 BB ol erodIs HoF ko JEYD rerdgd Nod
4 %

Question Number : 125 Question Id : 4928631085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Bond lengths (in pm) of C ~H.C - C.C =C and C=C bonds, respectively are

C-H,C-C,C=C %0 C=C nogro 20630 gen (pm os?) SEbH

Options:

|« 120, 133, 154, 107

107,120, 133..154

> ®



107, 154, 133, 120
3

.

f

120. 107, 154, 13
4 ®

Question Number : 126 Question Id : 4928631086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the set of species having same bond order

¥4

D3N 2oPESNn fHo Erdood HBotiko

Options:
B, .N,.O;
1. % -
_I_
NE » 2: 2 Pl
o> R
o
5 5 Hay 5 Py
3¢ -
2
Q 8 .N
4 % g

Question Number : 127 Question Id : 4928631087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following plots is correct for the behaviour of ideal and real gases?

88 080N eTroinde (HBIESE Jo020§od B0d THos® I8 $0FEHE?

Options:



4

PV

57 z —
& 273. 15K é ;

He
coO

ideal gas

ideal gas

real gas

V>



Question Number : 128 Question Id : 4928631088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A 10 litre cylinder contains equal volumes of H, and He. If the mixture is allowed to diffuse
from an opening. estimate the percent composition of the output gas.

(Assume ideal behaviour of gas mixture)

10 L 850" Dd0md Dodidddormotio H) o0ddn He of Qo0& edb. & oo o8
Sogdw oo Trgddo BohB wofobss IS Jrado JoFodddnd B oKod.
(SO EH0H0 BEGT YT @I8RoEF0d)

Options:

50% H, . 50% He

1. ®

. 41% H, . 59% He
B

_ 59%H,.41%He
I

. 30%H, . 70% He

Question Number : 129 Question Id : 4928631089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Conversion of molecular oxygen to ozone takes place only to the extent of 15%. Calculate
the mass (in g) of ozone that is formed from 67.2 L of oxygen at STP.

w0 efjud, LE'Im 15% I88 Sr@gd Sr8yé 2iSod. STP 58 67.2 L es§s
B0d QB LFS (BS50°8 (g 0s®) I B owod
Options:

96

1%

64.1

144
3 &



Question Number : 130 Question Id : 4928631090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A fuel cell generates electricity by using methanol as the fuel and O, as the oxidant. Calculate
the equivalent weight of methanol.

w8 20PN Hotodon, WEISEH ROFBDN 08w O, 8§ E8BK GSDrAod Dogdy o

AL Dok, DESS doergol oty B8) owhisn

Options:

16.0

1

8.0

> R

6.4

o R

s 508

Question Number : 131 Question Id : 4928631091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2 moles of an monoatomic ideal gas at 25 °C heated reversibly at constant pressure of

2 atm to a final temperature of 125 °C. Calculate the AH [CV = %R)

D8adSS0 2 atm 3¢ 23rdo .l sddTraindio 25 °C Sok 125 °C <&, Sosdaooff

38 Srco, A [c "

&
D
W
2

Options:

500 R

1. ¢



. —500R

&

250 R
=

—250R
4 ®

Question Number : 132 Question Id : 4928631092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following reaction. K_=2x1073

2A=B+C
Identify the correct statement for the reaction when [A] =[B] =[C]=3%10"*M

§od wS8gse, K. =2x107
2A=B1C
[A] = [B] = [C] = 3x10* M evosoisycko & 8550 H0G8 D58 H8owB0
Options:
Proceeds towards the products
26 Bolraarge 39 adihd
1. %
Proceeds towards the reactants
26 Bolradsy I 2divd
= o
Reaction is at equilibrium

S8 DHEPE 5§ &HO
Gl () ¢

Reaction completed

S8g Pl Lonldd



Question Number : 133 Question Id : 4928631093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At 25°C. the concentration of PbCl, dissolved per cubic decimeter (dm?) of water is
1.62 %102 mole. Its solubility product (Ksp) at 25°C 1s

Options:

1.70x1073
1. ¢

1.62x1072

o W

0.94x10710

Question Number : 134 Question Id : 4928631094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The gas produced when Zn metal 1s heated with aqueous NaOH 1s

7n &*559) meo NaOH &@ 383059 SJeodds S50

Options:



Question Number : 135 Question Id : 4928631095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The order of stability for the super oxides is

2rdd @Bk P& (ESodw
ol o

Options:

KO, > RbO, > Cs0,

1 %

CSOE - RhOz = KOQ
o o

Cs0,> KO, > RbO,

3 ®

RbO, > KO, > CsO,

4 %

Question Number : 136 Question Id : 4928631096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following 1s correct with respect to diborane ?

BT 0% D020500 Eod TEST IB HOFSE?

Options:

All B and all H atoms lie in one plane

ey B, H38SmmoHen o8 oo’ dodraw

2 R

The two B atoms lie in one plane, above and below this plane there are three H atoms
n each plane

ot B S8Sreoden o8 dwod® ¢od, & doo §od Sardd Sodoiw 8 Sardd

H S850remd)enodrann



3 #®

The two B atoms lie in one plane. above this plane there are two H atoms and below
this plane there are four H atoms

S0 BOGdrmanden o $00d” ¢0d, & dood Bod H S8Sremoden S0k

& dwo fod Trenis H J8dreodenodoa

4. &

The two B atoms and four terminal H atoms lie in one plane, above and below this
plane there are two bridging H atoms

Both B H85reanden So6cin drenih @odd H H8Srmoder 8 dwods® &od, &

$00 20 0w 1Bod Soo o8l H Hddrmadeociran.

Question Number : 137 Question Id : 4928631097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the correct statements from the following
a)  Silicones are hydrophobic in nature

b)  The repeating unit in silicones is

c) InCg molecule, twenty Cy rings and twelve Cs rings are present
d)  Dehydration of formic acid by conc. H,SO, at 100°C gives CO,
e) The distance between two layers in the graphite 1s 34 pm

Bobh &S 0GR o Hiodod
a) 0OFQwn 2oITE Jraw) BOA tolrow

b) JOFI0S’ QITHE 05

CH3

c) Cgp pe0des”, HSE Cs Sodsren 50850 I3y (s Sodsren wodrmon
d) 100°C 58 ma H,S0, & 8§ e55) §085m0 Iy CO, S =miyb

¢) (MPES” Tos rdw gy drddn 34 pm

Options:

a.b. c.d

a.b.c
e

c.d.e
z ®

a.b.e



Question Number : 138 Question Id : 4928631098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When pH of rain water is below ‘X 1t 1s termed as acid rain. ‘X’ 15?

562 8 pH dend ‘X’ 808 8508 wondHd T ‘eisde’ ol votrd. X 287

b R

Options:

7.0

1%

5.6
o o

6.0

3 ®

6.6

4 ®

Question Number : 139 Question Id : 4928631099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 g of'an organic compound containing C and H, on complete combustion produced 3.04 g of
CO, and 1.53 g of H,O. Find the approximate percentage composition of C and H in the
compound.

C.Hen fio 1 g88)% $30)¢7°) rom Sdrdo Bsdydo 3.04 g CO, S000% 1.53 gH,0

=g

QS Tow. HIFSSn By, dowd Ted) 5508

o 3 o
Options:
% H%
83 17
i
% H%
80 20



C% H%

vy B 15
C% H%
w38 12

Question Number : 140 Question Id : 4928631100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following compounds has zero dipole moment (u=10) ?

§od I Tt Gughd Erdiio oyl (U =0) S0d 267
Options:

trans - But - 2 - ene

€S - argdd - 2 - &

1.9

Cis-But-2 -ene

o

FoP3) —wgéﬁ_ - 2 -

2 - Methylpropene
2 - BS|PFaS

3 - Methylbut - 1 - ene
3 - WpSaorgs - 1- &

Question Number : 141 Question Id : 4928631101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following gives a red precipitate upon reaction with a terminal alkyne?

808 TES' o8 w08 6P 5SS S5 2OVIYE AN o VIEFY ANKE B?

Options:

Cu,Cl,
i S

.[AE(NHB ), ] " Su

Question Number : 142 Question Id : 4928631102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of packing efficiency in fcc. bee and simple cubic structure respectively. with
respect to that of fcc 1s

fce Sdorre fec. bee Sobodn S8 o8 oo’ Erddy rdodsd) NG DK

Options:

o 1:092:0.71

’ 1: 081 067
| B 4 10l IS &
= ]
1 ;065055
4 ¥

Question Number : 143 Question Id : 4928631103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



8.9 g of KCl dissolved in 1 L of water exhibited an apparent degree of ionization of 0.86.
The osmotic pressure exhibited by this solution is equal to the osmotic pressure of 1 L
glucose solution of unknown concentration. Calculate the glucose solution concentration
in wt. %. (M. wt. of KC1=74.5).

IL&e* 8.9 go KCl& 88h0itd b ([HEd B )iy @chisdn @56 0.86. & @b
ETDIGD HESDN, mES BOcHY 1 L ArE'S @il $o0dsn HaTis H5r55%.
ﬁ{“?é Grdeew) mESs Wt % od® 8§ owodn.

(KC1 w0280 = 74.5)

Options:

0.4

1 ®

40

o R

0.04

Question Number : 144 Question Id : 4928631104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The vapor pressure of a solution of glucose 1s 720mm Hg at 100°C. What 1s the mole
fraction of water in this solution?

100°C 58 Ar8'S ey wriyedsso 720mm Hg & @doocs® 38 Ird eridoos?

Options:
72

. 76



740

_— 760
700
760
4

Question Number : 145 Question Id : 4928631105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The emf of the following cell is 1.229V at 298 K.

Pt. H, (mm]‘H*(lm)\o2 (1atm). Pt

H, +%02 ——H,0)

The standard free energy change for the cell reaction 1s
[F =9.649 » 10* C mol™]

298 K ¢ 1§08 oty emf enss 1.229V.
Pt. H, (atm)|H" (1M)[0, (1atm). Pt

H, +%Dz =11

2ob) WEgEY (Didre0 ﬁéﬁﬂgﬁ:\ﬁ; 370y Jog?
[F =9.649 x 10* C mol™]

Options:

-212.77 KJ

1 ®

o —237.17 KJ

-577.1 KJ

3 ®



4743 kJ
4 %

Question Number : 146 Question Id : 4928631106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a first order reaction is found to have a rate constant of 1.386 % 10712 571, the half life of
the reaction in s 1s

RS0 ESrol W$EgEy S0 Seds Giw Rorogo 1.386 ¢ 10712571 sand ¢y eozcings oo
S 0"
Options:

6.93 x 101!

1 ®
13.86 x 1011
5.00 x 1011

2.00 x 10"

Question Number : 147 Question Id : 4928631107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



X ; ; : ; ;
If —=k P% equation represents the Freundlich adsorption 1sotherm where x 1s mass of
m

the gas adsorbed on mass ‘m’ of the adsorbent at pressure P. & and » are constants which

depend on the nature of adsorbent and the gas. Which of the following condition represents
the figure?

X

¥ anlf

= = Fonoda dIroy Hao¥deoes® P Hdso 3G ‘M (B3go7R o whTI8o D

@§T a0 BodS Traind (KSgo° x. kSodoin neo viFago, ol Serhon Brdda

ot

DT OsTWR. §00 o D0gden HAUTIE (TEIGFo DTm0®.

1
logi
m
logP —
Options:
' 1
logh<0. —=1
1
1. %
| 1
logh>0. —=1
_— n
| 1
logh>0., —=0
- n
| |
logk<0, —=0
- 7

Question Number : 148 Question Id : 4928631108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

(a)
(b)
(c)
(d)

Sod

(a)
(b)
(c)
(d)

List-1
Copper
Iron

Zmc
Aluminiim

TR 2EDCL0k
e - |

5758

Colots

2os

©©0 g0

The correct answer 1s

90 90308 23aT7e0

Options:
@ b (o)
S5 (11) (u1) ()
@ O (o

,x @) G) @
(@ b (c)

_ G Gi) @)

(d)

)

(d)

(iii)

(d)

1)

List-1II
(1) Bauxite
(1) Malachite
(111) Haematite
(iv) Calamine
(v) Galena

hee - 11
(1) =58
(i) Sress
(iil) 5eB&
(iv) stos
(v) Adar



@ @® («© @

) O @)
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Question Number : 149 Question 1d : 4928631109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following does not possess N—N bond?

Bod 8S* AAS® N-N 220850 oddn?

Options:

P2

<
B
L

Question Number : 150 Question Id : 4928631110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Asolid “X” onreaction with dil HC1 liberates a gas Y. which decolorises acidified KMnO,,.
X, Y respectively are

X o o8d0 2908 HCL S S6gT0d Y eod orcindd ddode Haino. :Yﬂ%ig_égé
KMnO, &> 25852 oo, X, Yeo 5834

Options:
Na,S. SO,

1 ®

_, Na,80,.50,



Na,SO,. SO,

o %

Na,SO,. H,S

4 ®

Question Number : 151 Question Id : 4928631111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The calculated spin only magnetic moment. pt (in BM) of [CoF ;J*"is

[COF P~ c300%), #ecBoRdd )5 Srigdo woham,of @rdgsn (BM od®) Jod?

Options:

i ot 4.90

Question Number : 152 Question Id : 4928631112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following lanthanide ion has the highest number of unpaired electrons?

§od TS w8ghE 2obd JVE RN TroEIE VTR A8?
Options:

Pm3"
1 %

3+
ol Sm

Eu?*
2 ®



Gd*
4 <

Question Number : 153 Question Id : 4928631113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following statements 1s not correct?

Bod TES® DB JOFE BB 587

Options:

Starch and cellulose are polymers of glucose

36 H0c50 DeugSEen KPEE Gwg, FOL

Artificial silk 1s derived from cellulose

é&@;’ﬁ o) ’@mgfﬂ"’a'? od bfﬁgd@:é&u&

LT

Polystyrene is an example of thermoplastic polymer
FOROS esd GTIRE FOWEH wTTdw

The monomers of Buna-S rubber are isoprene and butadiene

oF@S HBokw argdanldey argld-S dand Bwg) oS Sod
o =

Question Number : 154 Question Id : 4928631114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following will not produce an aldehvde group at the anomeric carbon in
solution?

w

Bob &8 Elmred’ 26 ITH0E G0 I8 s§rd DB GTEE?
Options:
Sucrose

So8°S
4



Maltose

2 % B

Lactose

er5° S
z ® o

Ribose

o6
p_— o1k

Question Number : 155 Question Id : 4928631115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Antihistamines generally do not affect the secretion of acid in stomach, as

ciro8irgaiaee Ferdemor £¢890s’ wo I6E Sgn Pardo B>

E?

&5
£
O
£
V1.8
C
£,

Options:
Antihistamines are anti allergic

ﬁro&ﬁr%ﬁbﬁm, 5ol JodBen

1 ®

Antihistamines are amino compounds
X BrotiirRaoRen, Jdaud® S0 Faren

g " *
Antihistamines are acidic compounds
GrofridoSen, wd Jddren

3 ® & - -
Antihistamines work on different receptors
Sro&rgen: I (Trson HIBToW

4. B
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The major products P and Q formed in the reactions given below are
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What are the products formed in the following reaction?
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Phenol, methyl iodide
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Diphenyl ether. methyl iodide
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The reaction of acetylene with H,O in the presence of catalytic amount of HgSO, and dilute
H,SO, gives the product A. Compound A upon treatment with aqueous NaOH forms B. What

are A and B?
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Which one of the following compounds reacts with phenyl magnesium bromide to form a
salt of benzoic acid?
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Formic acid
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Identify the correct percentage of A, B and C formed in the following reaction

HNO;+H,S0, .
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Aniline -Nitro aniline + p-Nitro aniline + m-Nitro aniline
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